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Part One: Reading comprehension

Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, ¢ & d) below each one. Base your
answers on the information given only.

Passage 1

121.

122 .

123 .

124 .

125.

Through a technique known as adopted cell therapy, doctors replicated a woman's own
immune cells in the lab; then, they released them into her bloodstream. The tumors began
melting away. Scientists are making strides in a new cancer treatment that manipulates the
patient’s immune system into going to war with malignant growths. The therapy, which
could apply to a wide range of cancers, offers a silver lining for patients diagnosed with
melanomas in the lungs, bladder and gastrointestinal tract. For example, in a study
recently published in Seience by the National Cancer Institute, doctors *‘sequenced the
genome" of a 43 year-old woman, who had been struggling with a type of cancer that had
not responded to chemaotherapy, the New York Times reported. Through what is called
""adopted cell therapy™, Dr. Rosenberg and colleagues involved in authoring the study,
identified "‘cells from her immune system that attacked a specific mutation in the
malignant cells. Then they grew those immune cells in the laboratory and infused billions
of them back into her bloodstream," said-.the Times. Rosenberg told the Times that through
the process, the tumors began **"melting away"*. He added, "'It's the first time we have been
able to actually target a specific mutation in the immune system,” Rosenberg told NBC
News.

This passage is mainly about ............ :
a. using heatto melt.cancer cells
b. using thespatient’s immune System¢a attack cancer
c. infusing silver in the blood stream to fight cancer cells
d. removingicancer cells by/featand chemotherapy

According to the passage, the ............ by adopted cell therapy.
a. immune system is suppressed
b. tumor cells adapt to the new remedy
c. immune cells are artificially generated
d. tumor cells melt away in the lab tubes

The writer has mentioned melanoma because ............ .
a. itis unresponsive to chemotherapy
b. there is evidence showing it is the most fatal malignancy
c. itisthe most common malignancy found in the world
d. there have been some manipulative strides as to this cancer

According to the passage, the writer has a ............ attitude towards treating cancers which are
unresponsive to chemotherapy.

a. promising b. discouraging c. neutral d. conservative
It is stated in the passage that the ............ in order to remove the malignant mutation

happening in the cell.
a. blood stream is activated by chemotherapy
b. blood is cleaned in the lab and then infused into the body
c. cells, capable of invading malignancies, are infused
d. cells become responsive to chemotherapy

\v
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Passage 2

126

127 .

128 .

129.

130.

A wide variety of afflictions may be caused by vitamin deficiencies. Niacin deficiency, also
known as pellagra, is associated with dermatitis, diarrhea, and dementia. Night blindness
with or without keratomalacia, and dermatitis with rashes suggest vitamin A deficiency.
Vitamin K deficiency may manifest itself as a bleeding diathesis due to the role of vitamin
K in the formation of prothrombin and clotting factors VII, IX, and X. Scurvy, or vitamin
C deficiency, results in the altered formation of connective tissues, such as collagen, osteoid,
dentin, and intercellular cement substance. Vitamin B deficiency, or beriberi, occurs in
three ways that generally overlap to some extent in any given patient. Neuromuscular signs
and symptoms alone are known as "'dry beriberi** but in association with edema are known
as "‘wet beriberi.""Heart failure, generally high-output failure, accounts for so-called
cardiac beriberi.

. According to the passage, inflammation of the skin due to vitamin A deficiency ............ .
a. is common among the general publie
b. causes raised spots on the skin
c. results from keratamalacia
d. causes pain in vital organs

The text suggests that heart cutput.may be influenced by ............ deficiency.
a. vitamin A
b. vitamin B
c. vitamin K
d. vitaminC
Scurvy refers to MItamin . «...sv e deficiency.
a. A
b. B
c. K
d C

Lack of vitamin K may resultin ............ .
a. neuromuscular symptoms
b. non-stop hemorrhage
C. Ccement substance alteration
d. clotting factors formation

Mental deterioration may result from the deficiency of ............ :
a. Niacin
b. vitamin A
c. vitamin K
d. vitaminC

A




Y slosts > (W) 212 = 18 5 )l 53 10l Wiyl i 415 9037

Passage 3

131.

132.

133.

134 .

135.

Cognitive problems caused by Alzheimer's are strongly influenced by a build-up of plagues
in the brain. The plaques consist of amyloid beta —a protein that is produced as part of
normal brain activity. Alzheimer's patients, however, have elevated levels of amyloid beta,
which results in the protein clumping together as plaques. Most antidepressants stimulate
the flow of serotonin, which reduces the production of amyloid beta in the brain. This has
prompted the researchers to investigate antidepressants as a tool to control amyloid beta
production in Alzheimer's.

Initially, results revealed that antidepressants successfully reduced amyloid beta
production in the young mice without plaques by 25% after 24 hours. In the next phase,
the researchers administered the antidepressant citalopram to older mice with plagues and
found that citalopram halted the growth of the existing plaques, while formation of new
plaques was reduced by 78% during 28 days. Subsequently, the samples from 23
cognitively unimpaired human subjects showed that amyloid beta production had dropped
in the human participants by 37% over the 24 hours following the administration of the
citalopram. The researchers, however, concluded that the risks aren’'t worth it unless we
can more definitively prove that these drugs help slow or stop Alzheimer's in humans. For
this, we expect results showing a drop in levels of amyloid beta in spinal fluid after two
weeks that would allow us to know this beneficial reduction in amyloid beta is sustainable.

The cause of cognitive problems-inthe brains of Alzheimer's patients is basically the ............ .

a. excessive production of a protein
b. insufficient supply of serotonin
c. existence of depression traits
d. inability to alsorb citalopram
Based on the information in the passage, antidepressants are assumed to indirectly ............ in

Alzheimer’s patients.
a. break clumped proteins apart
b. increase the disposal of amyloid beta
c. prevent proteins from clumping together
d. decrease the production of amyloid beta

In the experiments, the most sustainable results were reported for ............ :
a. mice with no plaques
b. mice which already had plaques
c. cognitively impaired human beings
d. normal human beings with no plaques

According to the researchers of the above study, citalopram has all the following effects
EXCEPT ............ :

a. decreasing amyloid beta production

b. reducing the formation of new plaques

c. blocking the growth of the existing plaques

d. halting the production of amyloid beta proteins

It can be inferred from the passage that the antidepressants used in such studies may ............ .
a. have considerable adverse effects
b. have no effect on the human being's brain
c. be prescribed only in chronic cases
d. show no short-term satisfactory results

4
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Passage 4

136 .

137.

138.

139.

140 .

The wealth of nations is a strong indicator of population health. But within nations, socio-
economic position is a powerful predictor of health as it is an indicator of material
advantage or disadvantage over the lifespan. Material conditions of life determine health
by influencing the quality of individual development, family life and interaction, and
community environments. Material conditions of life lead to differing likelihood of physical
(infections, malnutrition, chronic diseases, and injuries) developmental (delayed or
impaired cognitive, personality, and social development), educational (learning disabilities,
poor learning, early school leaving), and social (socialization, preparation for work, and
family life) problems. Overall, wealth of nations is a strong indicator of population health.
But within nations, socio-economic position is a powerful predictor of health as it is an
indicator of material advantage or disadvantage over the lifespan. Material conditions of
life also lead to differences in psychosocial stress. The fight- or- flight reaction—chronically
elicited in response to threats such as income, housing, and food insecurity, among others—
weakens the immune system, feads to ingreased insulin resistance, greater incidence of lipid
and clotting disorders, and other biomedical insults that are precursors to adult disease.

One way to estimate the ............ of a nation is through its socio-economic status.
a. fight- or- flight reaction
b. work preparation rates
c. average health
d. unique lifespan

The presence of chronic diseases in a society can be a good indicator of ............ .
a. an infections ailment
b. delayed cognitive development
c. prevalence of-physicaldisabilities
d. unfair wealth distribution

In response to social andeconomic probtems, people may exhibit the ............ .
a. fight- or- flight reaction
b. immune system boosting
c. lipid dissolution increase
d. adverse material condition

It is understood that certain adult ailments, namely insulin resistance, may result from some

biomedical disturbances

a.
b. lipid or clotting problems
C
d. limited lifespan

To promote the health status of citizens, it is implied that social authorities should monitor
people's ............ .

a. immune system features

b. fight- or- flight reaction

c. infectious diseases

d. economic status
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Part Two: vocabulary

Directions: Complete the following sentences by choosing the best answer.

141 . This is the only organization which has been awarded for ............ health policies issued by the
ministry of health.
a. overlooking b. undertaking c. overlapping d. undermining
142 . Through computer ............ , the medical students can be trained to perform an operation.
a. stimulation b. amplification c. assimilation d. simulation
143 . The policies regarding the implementation of new health systems reflect the ............ of new
managers in promoting health systems which are client-based.
a. dispersion b. aspiration C. recrgation d. inversion
144 . Reviewing the outcomes of former systems gives new ............ to understand the disadvantages
and develop new systems which are more efficient than before.
a. insights b._manuals c._incidents d. modules
145 . Before implementing any new system, you should first performa ............ study to ensure your
goal will be reached in that setting.
a. mobility b.. avaiability ¢... feasibility d. readability
146 . Motility patterns in the small intestine serve not only to ............ intestinal contents, but also to
mix them with enzymes and other digestive juices.
a. propel b. prolong c. conceal d. compel
147 . The formation of stones in the gallbladder is a disease that has ............ human beings for
thousands of years.
a. afflicted b. oppressed c. contracted d. protracted
148 . Itis now believed that the body's immune response ............ the lymphoid system.
a. proceeds b. resides in c. combats d. recursin
149 . Adolescents with suicidal tendencies frequently ............ whatever they find in the medicine
cabinet.
a. ingest b. digest Cc. detest d. contest
150 . The disease and its subsequent two-year period of ........ left the athlete completely out of shape.
a. infirmity b. competence C. prosperity d. fortune

A
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151. The committee has recently questioned the manager’'s ............ to finish the assigned tasks
without help.
a. competence b. incapacity C. prescription d. impairment
152 . Every player of the team knew that he lacked the ............ to continue playing for 90 minutes.
a. enervation b. stamina c. fragility d. simultaneity
153 . There was no point in keeping the patient alive with the ............ of all brain activity.
a. commencement b. endurance C. congruence d. expiration

154 . The large number of commeon.cold patients.referring.to.day-care centers show the high ............
of this disease.

a. scarcity b. eradication c. prevalence d. recession
155. Trauma and infectious diseases have been the ........L... causes of death since the dawn of
history.
a. current D. evolving ¢intensive d. leading
156 . It is believed that most diseases are ............ of abnormalities of molecules, chemical reactions,
or biochemical processes.
a. disturbanees b.. manifestations C. applications d. interruptions

157 . Our study failed to take into account the participants’ low level of physical activity which could
vereeen..... their physical health .
a. finalize b. elevate c. endanger d. strengthen

158 . Failure of the doctor to ask the question about drug allergies or suspected reactions or to record
the answers properly may be .............

a. life-saving b. time-consuming c. vital d. fatal
159 . Recreation is what you do for physical or mental ............ outside work.
a. constipation b. enjoyment c. prejudice d. exertion
160 . On the third day, the patient noticed some change in his ............ habits, which turned into
diarrhea the very next day.
a. movements b. motions c. bowel d. stool
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